4th Games Small Fed.- Final

round 1

SMarinoOp 25 20 N : Briolini Gianc |E : Macanovic Laza N : Erakovic Goran |E : Fazzardi Gianf
tbl 3 open closed

Montenegro 6 10 S : Fiorini Fioren |W : Drobnyak Denis S : Dacic Vesna W : Briolini Gianc

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 3NT = E & 2 400 3 NT +1 E vA 430 1 -
2 24 +1 S +J (140 24= S +J 110 1 -
3 3 NT +2 w & J 660 56+ E s A 620 - 1
4 24= w +K 110 144+ W + K 110 - -
5 24-2 w + K [100 1NT 1 E v3 (50 2 -
6 44 +2 w +Q 680 44 +2 w +Q 680 - -
7 3NT = E v2 600 3NT = w &9 600 - -
8 44-2 N *Q 100 3e= N +J 110 - 5
9 3v-1 S *J 50 3v-1 S *J 50 - -
10 3NT = S +4 (600 2 NT +1 S 44 150 10 -
11 4a= S v Q |420 3 NT -2 N v4 100 11 -
12 24 +1 E *J 140 24 +1 E *J 140 - -

Latvia 34 14 N : Ozols Janis E : Roryshyn Oleg N : Karlykov Petro E : Lorencs Martin
tbl 4 open closed

Ukraine 38 16 S : Romanovskis Ja |W : Chumak Yuliy S : Shunmeister Bo |W : Bendiks Janis

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 44= S v3 (420 3 NT +1 S 44 430 - -
2 3¢-1 E 5 |50 3%-1 w ¢+ K |50 - -
3 2vx-5 N +3 1100 3 NT +2 w +Q 660 - 10
4 2v+1 E & A 140 2v+1 E *Q 140 - -
5 1 NT x -2 N 49 500 1a= E v5 80 - 9
6 441 w v4 (100 44+ E +8 650 13 -
7 441 w +2 (100 54 x-1 N 46 200 7 -
8 3 NT +1 N +3 430 24x-1 w vA 100 8 -
9 3¢-1 w &8 100 3v= W (410 140 6 -
10 3 NT -2 N v3 200 2NT 1 N v6 100 - 3
11 PASS - - 0 1NT x -4 E 48 (800 - 13
12 4v-2 S +Q 200 4v -1 S +Q 100 - 3




4th Games Small Fed.- Final round 1

Slovakia 18 16 N : Tomcani Jan E : Bejankina Zoya N : Lapeskevich Na |E : Velecky Eduard
thl 5 open closed

Belarus 13 14 S : Miroslava Keme |W : Shokhan Elena S : Matsveika Vali W : Anatol Filip

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 3¢+ E +10 130 3a= S +Q (140 - 7
2 54 +1 w 46 480 44+ +1 w 46 450 - 1
3 3e= N +K 110 2442 E +8 170 7 -
4 49+ w *2 650 4v+1 W | &A 650 - -
5 3NT 1 N 43 100 3 NT -2 N &5 200 3 -
6 3v+ S 4 Q (170 2v 1 S o7 50 6 -
7 4a= S & Q (620 4= S & J |620 - -
8 44 +1 w ¢+ A 450 44= w &3 420 - 1
9 4v= N + 10 |420 49v+1 N +9 (450 - 1
10 2v= E +K 110 1NT #+1 w &3 120 - -
11 341 E v2 |50 3v= S &J |140 - 3
12 2v 41 E v4 |50 PASS - - 0 2 -

Czech 39 24 N : Kopecky Michal |E : Orac Tolja N : Rasula Bogdan [E : Volhejn Vit
tbl 6 open closed

Slovenia 3 6 S : Kurka Josef W : Jesenicnik Ale S : Sadar Joze W : Jankova Jana

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 3NT = w a2 400 3NT = w a2 400 - -
2 4= S +5 (130 3&+2 S vK [150 - 1
3 3NT = S &2 400 3 NT +1 S &3 |430 - 1
4 3% x-2 w « A |500 3¢+ N «Q (130 9 -
5 3 NT +1 w a2 430 3 NT +1 E 42 430 - -
6 44x-2 w +4 500 3v+1 E +K 170 12 -
7 1441 E vK (100 1NT = N 43 (90 - -
8 4a= S &5 (420 2442 N vA 170 6 -
9 3 NT +1 w aJ 630 3 NT +1 w *J 630 - -
10 5441 E +3 (100 44= E A 620 12 -
11 5v+1 N « 3 (480 49 +2 N 43 480 - -
12 4v= N & A 620 4v+1 S 46 (650 - 1




4th Games Small Fed.- Final

round 1

Bosnia 43 25 N : Masic Faruk E : Parnis Margare N : Farrugia Marie E : Martinovic Dra
thl 7 open closed

Malta 6 5 S : Milovic Milova |W : Dix Mario S : Sacco Albert W : Novosel Igor

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 PASS - - 0 1NT = E a2 90 3 -
2 6&= S ¢4 (1370 4v-2 N ¢A 200 17 -
3 3 NT -2 N *2 100 34-2 N v7 100 - -
4 3 NT +1 E &2 630 3 NT +1 W 210 630 - -
5 491 w 47 |50 49 -1 E &9 |50 - -
6 3 NT +1 E +4 630 3 NT +1 E &9 630 - -
7 24+ N &3 110 1NT -3 W | 410 (300 - 5
8 3NT 1 w 4 |50 3a= W | &A 140 5 -
9 44+ +1 N +9 (450 S54= N 49 [450 - -
10 4 NT +2 S +9 690 3 NT +4 N &7 |720 - 1
11 49 -4 N ¢A 200 24x-3 S 7 500 7 -
12 44+2 W | ¢Q 480 6a= W | ¢Q 980 11 -

Cyprus 21 8 N : Kolettis Georg |E : Urbani Anna Ma N : Pecci Antonia |E : Georgiades Geo
tbl 8 open closed

SMarinolLd 46 22 S : Politis Takis W : Filippi Mimma S : Ritiani Mauriz |W : loannou Depsi

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 3v-1 w +8 |50 3¢41 N A 50 3 -
2 2 NT -2 E +9 (100 3NT -1 E 45 (50 2 -
3 24x= S & K (470 3a= W +3 110 11 -
4 2v= S &5 110 2¢+1 N & A |110 - -
5 3a= S +5 (110 1NT 1 W A |50 2 -
6 5¢x-1 E & K (200 3a= N v2 |140 2 -
7 3 NT +2 N &5 |660 3 NT +1 N 42 1630 1 -
8 4v -2 N &6 100 2v= N 4 110 - 5
9 79v-1 S &5 50 6v= S 42 (980 - 14
10 S5vx= W | v10 850 S5ax= S & A |850 - 17
11 4v= w A 420 6v-1 w A |50 - 10
12 3NT= N « 3 (600 3NT = N &6 |600 - -




